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Please plan this 16 mark question.
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7 Analyse how a hotel might use temporary or part-time staff in order to improve flexibility ©Omarks) | &

8 Explain two factors  business might consider when deciding on whether to outsource s production. (6 marks) | &

9 Explain two benefits 0 a clothing manufacturer as a result of improvements n is flexibilty @marks) | 3

10 Explain how a business might improve ts speed of response. Gmark) | §

11 Analyse two reasons why aeroplanes are bult to order. Omarks) | 3

12 Evaluate the pros and cons of mass customisation for a fast-food provider, such as Burger King. (16 marks) g

z

Case study: Dell (Part 1)

In 1984, Michael Dell founded PCs Limited with
$1.000, selling and installing kits to upgrade
computers for university students. A year later the
company built it frst complete computer.

Dell came up with a completely new idea - mass
customisation of computers (PCs. He decided that

he would selldirectly o customers, designing the
computers to the exact specifications of their order.
The key factor influencing this decision was Dell'sLack
of money - he could not afford to build a PC unless he
had a guarantee that it would sell. He also employed
just-in-time manufacturing methods, because this

allowed him to keep his inventories low. Although
Dell nitially produced on a small scale, this approach
enabled him to compete with much larger PC providers.
that relied on mass-production, BTS [build to stock]
methods, because the larger providers had such high
inventory costs. Within four years, Dell's annual sales
revenue rose from $80,000 to $73 million.

By 1992, Dell was one of the USA's 500 largest
companies and became the world's largest computer
provider in 2001.

As Dell grew quickly, it faced problems trying to
match its capacity to supply to the ever-increasing

»>

an





image2.png
View Page -

[ my.dynamic-learning.co.uk/ViewPage.aspx?ti

5ef214d7-9b69-44f2-8079-b7c58cfdd309&fn:

ps0314-0315.swf&i=713af261-1804-47f5-: §

DB

Levels of demand for its PCs. Dell assembled the final
products in the USA, but the basic units were supplied
from Taiwan and sothis meant that Dell had to choose
between halding increasing levels of inventories of
base units or demanding greater flexibilty from its
suppliers. As worldwide sales grew, new assembly
factories were built n Ireland, Malaysia, China and
Brazil. These locations allowed Dell to cut both
production and delivery costs.

Dell's view was that its core capabilty was in
customising basic units, to suit customer needs.
However, other businesses were learning from Dell and
introducing similar methods. In order to reduce costs
further, Dell decided to outsource more production,
representing 25 per cent of ts manufacturing. In

time, this led to problems for Dell. Asus, one of its
component suppliers, offered to produce matherboards
Icontaining the main electrical components of a
computer] more cheaply and so Dell outsourced this

Questions

1 Explain how mass customisation reduces
inventory costs for @ company siuch as Dell. (5 marks)

2 Analyse two reasans why Dell experienced problems
© marks)

when trying to match supply to demand.
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activity to Asus. Later, Asus moved on to assembling
the computers for Dell. As a result, Dell lost some of ts
core skills. This problem was highlighted in 2005, when
Asus set up as a compelitor n the PC market.

Dell also autsourced customer support by moving
its call centres to India in 2001. However, s rating

as the computer provider with the best customer
service was hit by issues with the new call centres
and by 2004 some of its call centres were moved back
tothe USA. In 2009, the Irish factory was closed and
replaced by a factory in Poland, to reduce costs

Dell’s mass customisation enabled it to achieve a
worldwide market share of 16.8 per cent of the PC
market in 2005 Between 1999 and 2008, Dell and
HP/Compagq were the two dominant companies, but
companies such as Acer and Lenovo were catching
up. Dell decided to change its strategy. (Continued in
Dell [Part 2) on page 328)

Total: 30 marks

3 To what extent was ‘outsourcing’ benaficial
1o Dell’s aim to achieve sales growth? (16 marks)
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‘Author advice

Be aware that the word ‘stock
s different meanings. The term
‘nventory’has replaced stock' in
the context of holding levels of a
roduct, but many people still use
the word ‘tock in this context
Phrases such as ‘stock control

nd ‘buffer level of stock are stllin
ommon usage and have the same
meaning as inventory control and
buffer level of invertory

Did you know?

partially completed product,
uch 35 an aeroplane waiting
for its wings to be attached, is
nown a5  ‘Work-in-progress.

Key terms

inventory control chart A
iagram that is used to register
levels of stock/ inventory over a
eriod of time.

uffer inventory level The
minimurm level of inventory
targeted by a business. The




